Aruba SPR-RK3-MNT Kit

Installation Guide

This document provides instructions for standard rack mount installation of the device.

This accessory kit includes hardware for mounting the device in a 19" Telco rack from the front of the
device.

This accessory kit supports the following devices:

e S1500-24P/48P Mobility Access Switch
e S2500 Mobility Access Switch.

e 7205 Controller

e 7024 Controller

Package Contents

e Two rack mount brackets

e Eight M4 x 8 mm Phillips Flat Head screws

e Four M6 x 15 mm Phillips Pan Head screws
e Installation Guide (this document, printed)

Required Tools and Equipment

e Two Rack mount brackets

e Eight M4 x 8 mm Phillips Flat Head screws

e Four M6 x 15 mm Phillips Pan Head screws

e Suitable screwdrivers for both screw types (not included in this kit)

Some racks require screws that differ from those included with the device. Confirm that you have the correct
screws before installing this device.

NOTE
Each device should have its own mounting equipment. Do not place other networking equipment directly on
top of a mounted device. Failure to do so can result in damage to the device.
CAUTION
Installation Steps
The figures in this document illustrate the installation procedure for the 7205 controller. You can refer to these
N— figures for the installation of the other supported devices.

To install the device into a two-point 19" (48.26 cm) rack system:

1. Place the mounting brackets over the mounting holes near the front on either sides of the device
(see Figure 1).

0511708-02 | April 2015 1



Figure 1 Attaching the Mounting Brackets (7205)

2. Secure the brackets to the device using the eight M4 x 8 mm Phillips flat Hhad screws (four per
bracket) and a suitable screwdriver.

3. Mount the device in the rack using the four M6 x 15 mm Phillips Pan Head screws (two per
bracket) and a suitable screwdriver (see Figure 2).

Figure 2 Rack Mounting (7205)

o o b O B O D OO DO

2 0D B2 B B8 ©

4, Leave a minimum of four inches (10 cm) of space on the left and right side of the unit for proper
air flow and ventilation.

5. Leave additional space in front and back of the unit to access power cords, network cables, and
LED status indicators.

Aruba SPR-RK3-MNT Kit | Installation Guide



Contacting Support
Table 1 Contact Information
Main Site
Support Site

Airheads Social Forums and Knowledge
Base

North American Telephone

International Telephones
Software Licensing Site

End of Support information

Security Incident Response Team (SIRT)
Support Email Addresses
Americas, APAC, and EMEA

Security Incident Response Team (SIRT)

arubanetworks.com
support.arubanetworks.com

community.arubanetworks.com

1-800-943-4526 (Toll Free)
1-408-754-1200

http://www.arubanetworks.com/support-services/contact-support/
licensing.arubanetworks.com

http://www.arubanetworks.com/support-services/end-of-life-
products/end-of-life-policy/

http://www.arubanetworks.com/support-services/security-bulletins/

support@arubanetworks.com

sirt@arubanetworks.com

Aruba SPR-RK3-MNT Kit | Installation Guide


http://www.arubanetworks.com
http://www.arubanetworks.com
https://support.arubanetworks.com
https://support.arubanetworks.com
http://community.arubanetworks.com/
http://www.arubanetworks.com/support-services/contact-support/
https://licensing.arubanetworks.com
https://licensing.arubanetworks.com/login.php
http://www.arubanetworks.com/support-services/end-of-life-products/end-of-life-policy/
http://www.arubanetworks.com/support-services/security-bulletins/
mailto:wsirt@arubanetworks.com

© 2015 Aruba Networks, Inc. All rights reserved.

U AR QrUbQ

8511788-62 NETWORKS

www.arubanetworks.com

1344 Crossman Avenue
Sunnyvale, California 94089

Phone: 408.227.4500
Fax 408.227.4550

4 Aruba SPR-RK3-MNT Kit | Installation Guide



	Aruba SPR-RK3-MNT Kit Installation Guide
	Package Contents
	Required Tools and Equipment
	Installation Steps
	Contacting Support


